Js‘)‘Lk\,

ORI T kst 107.82
FOB AT
P i | (10328* = 106-# 107%1-7"
107&77)
C R A o g~ 716,689 45,510 1,449
i“éﬁ*tf’(ﬁfﬁg& » g~ 2,307,312 606,950 1,383,753
LT 5 3,174 667 450
Wigiz 4 TE 646 134 103
Bk 4 TE 18 6 1
W

-~ % OB FVE R G
(-)103#8”% 1p 2 107T#T7"* 31p Fﬁ’zﬁ‘wﬁé Yﬂ?‘@;"fﬁfﬁ%“i@
P ﬁﬁsg’;ﬁ;‘@i&,gﬂ—e’zs}%af a8 % 71 7R 6,689
Wﬁfﬂé %z%ﬁ ] (30 m=~)~p
it E (12 _v) \,fﬂ#;tﬁrzrg,fi
10 i @;L, ML RN s
- ﬁci“”’énb%‘?‘%qquwb\
PR QRr) 1z é?:’? ke IT\IFMCE””’ (2/~) % -
(Z)FHESRRFE O H 4> E230R 7,312~ 28 %5
B R FINPRL T Ly TR APA B AAPM 2 E 2 i
WA R Rz~ (138 7~ ~60 B~)~ PAFcinz fmd 4511304 5
AP EFFE Yo (11 R7A) - Mt R MAF feiik
FARFAEIFARARFAF L (R~ EAST E R
FAELIEIAER (AR~ ¥ RIVEABM L s ¥
SRR Eﬁﬁ{%;fﬁ,é‘ufﬁ,ﬁfi (2~) % -

~
Ny
(e
N—"
/4
T
\ﬁ;

(Z)EHMFE BRI X B H R L S5 _‘1;‘;%, P
%%%‘:‘73’174@’5"3»%%#&?&%%%%?6 Rk 5 4
IEO

= ~ 106 & ¥ 24T 5k
(- )106&11&4:#&&@ YA RHFERRYLIE CNAL LR
$%>Fad g i 435510 F45 > 18K LK
Wﬂ&ﬁﬁf 82 %% o HTR R R E P R LA
PRSP Iad: oy ]4%11&%*.&;«;};(%&#7; R



2 B 4o B~ 60 @ 6, 950 F & o

(2B AT RRYIX -AER LS
L e 667 3 0 ¥ LM
678 o
= 10T E 179 F R 4%

(=) 107 & 1-7 * F]E RBP4 FetyHL ¢

138 ek~

(=) FMFIE R & F’%ﬁ,&ﬂnﬁ
Lyt 450 9F 0 ¥ e A MR
158 -

j_
RfT
KN
=

£ 13495 0 Aok



